Strand 3: Physical Chemistry
Lesson 3 of Week 1 of Term 2:  Energy Change
Resource: Esa study Guide, Level 2 Chemistry, Chapter 11 (was photocopied last year 2019), online as well
The learning outcomes targeted in this activity are provided in the table below,
	SLO Code
	SPECIFIC LEARNING OUTCOMES (SLO): 
	SKILL LEVEL
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Activity
1. Calculate and classify as exothermic or endothermic reaction:
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2. Calculate and classify as exothermic or endothermic reaction:
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3. Calculate and classify as exothermic or endothermic reaction:
[image: ]

[bookmark: _GoBack]
image1.png
12CHE3.133

Calculate AH of a chemical reaction using Hess’s Law.

12CHE3.1.2.1

Classify reactions as exothermic and endothermic using AH.
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Calculate the standard enthalpy of the reaction of acetylene (C;Hy) from its elements:
Wiy + Moy — CoHag

“The equations and the corresponding enthalpy changes are as follows:

@) Compir + Oy — COng AH =3935 kl/mol
i) Hiy + Y20 — H:0p M =-285.8 k)/mol

(i) 2CHyy + 50iy — 4COxy + 2H:0p AH =-2598.8 kI/mol
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Given the following thermochemical equations,

L 2Hyy+ Oy > 2H:0p AHP=-5715k]
I NOsp + HiOp > 2HNOs AHP=-76.6 k]

IL %Ny + 140y + %Hyy > HNOyp AH=-1741]





image4.png
Calculate AH° for the reaction

Mo + 5029 > MNaOse9
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‘The preparation of unstable liquid nitrous acid (HNOy) is as follows:
HCI(g) + NaNO, (s) > HNO, (1) + NaCl(s)

Use the following thermochemical equations to calculate the standard enthalpy of
formation (A#H®) of HNO; in kilo joules (kD).

Thermochemical equations Standard enthalpy of
reaction (AH®) in kJ

1. 2NaCl(s) + H,0() — 2HCI(g) + NayO(s) +507.31

2. NO(g)+NO,(g)+ Na,0(s) > 2NaNO, (s) 42714

3. NO(g)+NO,(g) > N;0(g)+ 0y (g) 4268

4

2HNO, (I) - +N,0(g) + 0, (g) + H,0() 43435




